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MECHANICAL ESTIMATING & COSTING
fruife aw . @A Ee) (v 3% : 70
Time allowed : Three Hours] (Maximum Marks : 70

A ) RFETIRFIWIT

Note : Answer any FOUR questions.

(ii) Se4F T¥9 F GHY 477 F1 FHIR TF T FF HAd |

Solve all parts of a question consecutively together.

(iii) 9% F¥7 F1 73 98 & IR0 Fifd |

Start each question on fresh page.
(iv) 1 YTaT3T 7 37 @i F1 R 7 378t srqare a8 1

Only English version is valid in case of difference in both the languages.

(v) IR FIE 3rieer 78T 23T 7 & & 37 WEeITHEaR T FHAT /1

If any data is not given, assume it suitably.

1. (1) <V % al ) geese |

Explain elements of cost.

(i) T ehfie f ad 1980 % foe e gERd A R

e W=y = T 2,50,000
Teae 99 T =Y = T 1,00,000
G =T = T 1,20,000
ApgmEgEAssd = T 47,000
(1 of 8) P.T.O.
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T TS &1 S8 AT FMACURRE. . o v
Havgsa) 99157 71 |

om

Am w3 anm < 3,000 &

Suppose following informations are given for the vear 1980 :

Expenditure on material = T
Expenditure on direct labour = ¥
Factory Expenses = 3
Office and Administrative Expenses = T

2.50,000
1,00,000
1,20,000

47.000

Determine the cost of a product which is likely to require material for ¥ 10,000 and
wages for T 5,000.

2. @

(i1)

(7+10%%)

IYHTI TEOH & HIO [SRGY TUT ITF0 g2 F i guEEe |

Write reasons for replacement of equipment and explain equipment replacement

policy.

fo- 1 % weftfa s o3 smen S 10 ggzem & fves =1 ww I Fife AR A

78 39 # 25 ot = # A w1 e 9@

|firfiwsifididemsmAdomSm mafn Sz 59
Thed & fore 15 ol i rawma R | R rmm T TS gmicc B
Find out the weight of 10 M.S. spindles, the shape and size of which are given in

fig. 1. Also calculate the weight of scrap, if they are turned out from a M.S. rod
of 25 mm dia. and facing and parting off allowances can be taken as | mm and

5 mm respectively. Assume that 15 mm length
chuck. Density of M.S. is 7.8 gm/cc.

of rod is required for grip in the

|

C
L—Z.‘- ) 3 e 1 5]

¥t g At F € / All dimensions are in cm.

- 1/Fig.-1

(7+10%)
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3. () Tofw= 3o sy faftet o gdg o aofz it )

Describe in brief different methods of wage payments.

(i) 3.5 &t =arE wd 6 Wt A A vy & -2 d guie sEn s aen e dan
F & fore wr wra Hifsrg | fafafigs sta am oifvm

Zfn wE aiftn & fere v w1
faeftn & forg wda =
2w =ifin & fore wao
feefin 3 forw woor

¢ 1 MU JTfedan

(a)
(b)
(c)
(d)

(e)

(a)
(b)
(c)
(d)
(e)
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Cutting speed for turning and boring

Cutting speed for drilling

Feed for turning
Feed for drilling

Depth of cut not

and boring

to exceed

20 . /fme
30 . /fme
0.2 fr . /=
0.23 fondft. /9=
3 forsft

i | T 61 e 2 1 e w10 frft ol 20 finft s o w2

Find the time taken to prepare a job according to the dimensions shown in fig. 2,
from a bar 3.5 cm diameter and 6 cm long. Assume the following data :

= 20 m./min.

= 30 m./min.

= 0.2 mm /rev
=  0.23 mm /rev

= 3 mm

No facing operation is to be done. Use drill size 10 mm and 20 mm successively.

7

et 92 -

ﬂZTMV

L $ 2.5 odeen

Y J—

s

T

43

e 1.5 3% 2 —sk— 25—

weft o At € / All dimensions are in cm.

f=-2/Fig.-2

(7+10%)
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4. (i) bt O i 1 ool i |
Describe different pattern allowances.
(ii) T HE IAE T T3y H fefee g Fm-3 3§ ? 1 e Al wiw A
AHE w1 Qe T S R | 9 w9H & foT Faves wedl F1 9 9 i |

Y2 i AT 1 THe Wt Fifre, 3fe -
(a) e} IeTedl B T = 72800/
(b) U Wt I ITCTRUAT < gL T = T80/f=
i s s fufem s = T
() 98 TR = 92 H EE $i 20%
I A ge it o | wfiifera Hif |

A finished drawing of a C.I. flanged pipe is given in fig.-3. A wooden pattern is
required to be prepared in pattern making shop. Find the quantity of wood
required for manufacturing the pattern.

Also estimate the cost of pattern if :

(a) Wood is available at the rate of =¥ 2,800/m’

(b) Pattern maker is available at the rate of = T 80/day
And time taken to prepare pattern = 6 hrs.

(¢) Overhead charges = 20% of matenal cost

Include suitable pattern allowances in calculation.

—l2le 20 > 2ke—

aft g Ot # & / All dimensions are in em.

fm-3/Fig.-3 (7+10%)
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5. (i)
(11)

6. (i)
(i)

http://www.rtuonline.com

(5 of 8)
i1 viie deat aftranat « gazmsu |

Explain different sheet metal operations.

s 20 Tt s ) 53 | fam-4 ¥ g9t sER famad e e wiRin %
ferg v Y sravgs s Y o Fifse

It is required to make a key of dimensions given in fig. 4 from a rod of 20 mm
diameter. Calculate the length of rod required in forging.

N -
T — ___(_3__¢_,_ \Qﬂ 1
sz B 10 “ A
" 60 :|
75 X

avft wig @t 3 € / All dimensions are in cm.

f=3-4/Fig.4 (7+10%)

T dee ayn 1A &d9 3o § 3 gEwEy |

Explain difference between gas welding estimation and gas cutting estimation.

(2) T 8 finfi Wierd 9 g soqa i <z § 1 W e we e g vowmd w3 %
fere e <t o <Hif |

Calculate cost of cutting a V-groove with gas of 1 m length in a 8 mm thick
mild steel plate.

b) T 8 fiyrdt e ) 95 3w B F = Y | f o F R AR I F
forw afeen amra & o Fifdre |

e Fiee um fiftre -

0, F T = Z10nf3
C,H, %1 drma = T 50/
0 B8 Hl AT = Z12/fem
Y AT = T 1.8/av

P.T.0.

http://www.rtuonline.com

wodduuon)ammar//:dyy



woddurpuon)rmmar//:dyny

ME309

http://www.rtuonline.com

(6 of
afeEn & fou 6o f-wian dan femr a2 |

8 i1, wer F wie & forg i At oA

dt-@ian #red & fog -

%4 91 = 204/gsa
0, F @ = /e
C,H, @ = 2% /gw
afeen = & fore

WU B F1 TH = 4 fpd

C,H, @9a = 034 /e
SO B8 Y ST = 3.6 e/
O, §9d = 05" /==

afesnuma/ftidad = 25fme

Calculate cost for welding two 1m long MLS pesces of 8 mm thickness.

Assume following data :

Cost of O, = 10/’
Cost of C,H, = 50/ m°
Cost of filler rod = F12/kg
Labour cost = T1.8/hr

60° V-groove is prepared for welding.
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Assume following data for 8 mm thickness plate :

For cutting V-groove -

Cutting speed = 20 m./hr.

0, Consumption = 2mhr.

C,H, Consumption = 0.2 mhr.

For Welding :

Filler rod diameter = 4mm

C,H, Consumption = 03 mdhr.
Length of filler rod = 3.6 mm/welding
O, Consumption = 0.5 m%hr.
Welding time/m length =  25min.
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